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Performance Analysis of an ATM LAN Switch

with Backpressure Function

Hiroyuki OHSAKI, Naoki WAKAMIYA, Masayuki MURATA, Hideo MIYAHARA

Faculty of Engineering Science, Osaka University

Toyonaka, Osaka 560, Japan

Abstract Reactive congestion control mothod can be effective in an ATM based local area network. One
possible scheme to realize efficient reactive congestion control is that an ATM switch with input and output buffers
is equipped with backpressure function. Furthermore it becomes essential to support bursty traffic when data
transfer is provided in ATM LANSs. In this paper, we show performance of such an ATM switch with backpressure

function through an analytic method.
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